
Subject: Re: MacOS X woes
Posted by lundman on Fri, 15 Dec 2006 13:10:35 GMT
View Forum Message <> Reply to Message

Actually, its just size.cx*size.cy and at 3328 pixels each, that is the right value. So assuming
3328x3328 is correct..

The function ends with, after just one pass:

255             return img;
(gdb) p img
$3 = {
  <MoveableAndDeepCopyOption<Vector<Image>,EmptyClass>> = {
    <Moveable<Vector<Image>,DeepCopyOption<Vector<Image>, EmptyClass> >> = {
      <DeepCopyOption<Vector<Image>,EmptyClass>> = {
        <> = {<No data fields>}, <No data fields>}, <No data fields>}, <No data fields>}, 
  members of Vector<Image>: 
  vector = 0xbffff740, 
  items = -1, 
  alloc = 2315384
}
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